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Sentence 1

O as long as 1.~5t= &, 2.~0t=2 22|
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A = 2tYe
O side by side 1.Lt2t5], 2.8
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O appetite 142, 2. 841
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O sufficiently 2&79|
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O break out BEtstct, 2HAsiCE
(—&HYA= outbreak)

Sentence 2
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AP Ol (=fruitful), 3.~2 OF|5t=
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Sentence 3
O hit the jackpot (=2H-230fA)CHetS
E{c2|ct
O career ¥ 1.2/, 21Zde 2 A2/,
%434 s (AHHd=z)gelc

meld ACt Ao|Ct, =gt=|Ct
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O passion 1.2%, 2. 4L, 2315 (=rage),
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Step B. 1ttE &%

1. As long as they have more resources than they need, they can live side by side, but

if their number increases to such that all appetites can no longer be sufficiently

satisfied, war breaks out. 20218hd = A8t

E

2. Seeing only the good in one’s own actions and the bad in those of others is a

common human weakness, and validating only the positive or negative aspects of the

human experience is not productive. 20218Hd = A} 3-8l

3. It's great when you hit the jackpot and find a career that melds your strengths and

passions, and where there is demand in the highly competitive global marketplace of
today. 2018%td = 69 R H 7}
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Step C.



4. On the other hand, being observed while doing some task or engaging in some
activity that is well known or well practiced tends to enhance performance. 2018%Hd =

I~
T o

E

5. Many of you have asked about what climbing equipment to buy, such as boots,

ropes, helmets, and gloves. 20208t d %= 9¢¥ w7}

6. However, the noise of barking and yelling from at night is so loud and disturbing

that I cannot relax in my apartment. 20208t d = <%

7. 1 believe the Garden Cafe Gallery would be a perfect place to host the event, as

your gallery is well-known for its beautiful garden. 20218hd %= 9¥ X o] H7}

E

8. Parents and children are going to spend time enjoying outdoor activities and having
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13. Technically, if they get their calls through, efficiently and promptly, they
get [that / what] they want. 201581d = 69 = o]H 7}

14. [Although / In spite of] the verbal comment, the lack of expressive enthusiasm

suggests that the plan isn’t viewed very positively. 20158d % 69 X o] H 7}




Step E. & &4

1. o 29 2Al= 71 AT ALY
English naturalist Charles Darwin developed the idea of natural selection after a
five-year voyage to study plants, animals, and fossils in South America and on islands
in the Pacific. In 1859, he brought the idea of natural selection to the attention of the
world in his best-selling book, On the Origin of Species. Natural selection is the process
through which populations of living organisms adapt and change. Individuals in a
population are naturally variable, meaning that they are all different in some ways. This
variation means that some individuals have traits better suited to the environment than
others. Individuals with adaptive traits—traits that give them some advantage—are more
likely to survive and reproduce. These individuals then pass the adaptive traits on to
their offspring. Over time, these advantageous traits become more common in the
population. Through this process of natural selection, favorable traits are transmitted
through generations.
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Step A. E&EM — R KAl as long as, 52 H&HAL but, FAFE &AL if, 22|12
such that #&

As long as they have more resources / than they need, / they can live / side by
side, / but if their number increases / to such / [that all appetites can no longer be
sufficiently satisfied], / war breaks out. 2021813 = A} 3w
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Step E. & &4

1. o 29 2Al= 71 AT ALY

English naturalist Charles Darwin developed the idea of natural selection after a
five-year voyage to study plants, animals, and fossils in South America and on islands
in the Pacific. In 1859, he brought the idea of natural selection to the attention of the
world in his best-selling book, On the Origin of Species. Natural selection is the process
through which populations of living organisms adapt and change. Individuals in a
population are naturally variable, meaning that they are all different in some ways. This
variation means that some individuals have traits better suited to the environment than
others. Individuals with adaptive traits—traits that give them some advantage—are more
likely to survive and reproduce. These individuals then pass the adaptive traits on to
their offspring. Over time, these advantageous traits become more common in the
population. Through this process of natural selection, favorable traits are transmitted

through generations.
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A YN FFHoF & Hojs AHAMENO|Ct. Charles DarwinO| 5E7t| sl & LHAIZ!



